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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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== Fit vs obs: a=0.97, b=-43.22, r=0.9 .
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P3-13

BfiE) | EBATIC () | EBE (EH/HK) = ERE

07:20 312 150.0 Be| ThiHHe07:20 REFEF (KAEZRER)
07:45 312 150.0 B5| THHA@07:45 KENFEFF (RAA1ERER)
08:55 312 150.0 R5| FiHAe08:55 REIEF (KRFEERE)
09:55 312 150.0 Be| ThHH@09:55 REFEF (KRFAEZRER)
10:45 312 150.0 B5| TNHA@10:45 KRENFEF (RAfEREE)
11:30 312 150.0 R5| TiHAe11:30 KRHERF CRAEHS)
12:10 312 150.0 Be| TiHje12:10 REEF (KAEZRE)
12:50 312 150.0 RS FiHRe12:50 KREEF (REAERSE)
13:35 312 150.0 RS FmHA@13:35 KENFEF (RAfEEE)
14:20 312 150.0 RS ThHA@14:20 kENIEF CGRAFEER)
15:10 312 150.0 RS FiHRe15:10 KREEBF (GREAERS)
16:05 312 150.0 RS ThHA@16:05 KENFEF (RAAfEEIER)
29t 3744.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

FEIKRECE (2323.0 vs 5157.0) d 5
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P3-13_0, Day=55 (2025-05-25)
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P3-13

RriE) | BRI (D) | EME (EA/K) | XK R

07:15 294 150.0 B 1Rige07:15 Bzh (REEESE)
07:40 294 150.0 B5| {BRige07:40 Bzh (GREPMERE)
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09:50 294 150.0 RS {Ri%@09:50 Bz (REEESE)
10:25 294 150.0 el Rige10:25 Bal (REAEESE)
11:00 294 150. 0 S| Ri%@11:00 Bz (REERESE)
11:40 294 150.0 B Rige11:40 Bz (REAERE)
12:25 294 150.0 RS 1Rige12:25 Bah (REEESE)
13:10 294 150.0 B 1Rige13:10 Bzh (REEESE)
13:55 294 150.0 BS| 1Ri%e13:55 Bz (GREMEESE)
14:45 294 150.0 B 1Ri%e14:45 Bzh CGREMERESE)
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2i3t] 4116.0 (14%) 2100. 0 32933 KEC: 2080.0, PH: 5.6
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P3-13_0, Day=54 (2025-05-24)
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5

——

M_W

775

780
m=1005n FV0=0

T
785

——

M_W

1005

1010

1015

53.

52.

52.

51.

51.

50.

53.

52.

92.

51.

51.

m=650, FV0=0

—— MW

650

6%5 6é0
m=820,n FV0=0

—— MW

820

825 830

m=695, FV0=0

53.0 A

52.5 -

52.0 A

51.5 -

51.0 A

—0—

M_w

695

760 765
m=865,n FV0=0

53. 0 -

52.5 4

52.0 A

51.5 4

51.0 -

—0—

M_W

865

870 875
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

06:55 300 150.0 FA| {RRi&@06:55 Bzl (kA{EEEE)
07:20 300 150.0 (2 =| 1BRi%e07:20 Bz (kAFERSE)
08:30 300 150.0 (& =| 1Ri%e08:30 Bz (kBEREE)
09:25 300 150.0 |Z=| 1Ri&e09:25 Bz (KPBEEE)
10:15 300 150.0 (2 =| 1BRi%e10:15 Bz (kAFERKSE)
11:15 300 150.0 (B =| Bi%e11:15 Bz (GkBFERKSE)
12:20 300 150.0 | =| 1Ri&e12:20 Bz (KRBEEE)
13:25 300 150.0 FA| 1BRi&e13:25 B3 (RAERSE)
14:35 300 150.0 FA| 1Ri%@14:35 Bzh (kAERSE)
15:50 300 150.0 FA| 1Bi&e15:50 Bzh (RAEREE)
21t 3000.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

FERRNEREEFEBART (195.0 : 144.0), AgEHF—RE XAH5
ZRIAEBRIERL144.0 ml.

[B&REC 5252.0 K&, EiYF{KECAE&HikER

HEEIHECE (2080. 0 vs 5252.0) 5



FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=53 (2025-05-23)

R S i et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2145 2000

100 -
1146 232

860 - 1000

50 609
00

Warning: lcol [FVI',| "FVO’'] missing 160

100 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0 i 3000
, 4
Bylnlt:@D55 01:54: ET=1533 Fg=2100.0 Ro=494.0

300

- 2000

200 -

100 - - 1000

—
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000
| % | % | m® | | | w | | % | % | @ | m || w | m | % | m | mmw e ® %

ByEt @D53 19:08: ET=1665 Fg=1551.0 Ro=nan

300

- 2000
200 -

100 - A-'/./i S BEh iy

- 1000

ET (ml/hr/plant)

1 2 ] 31 41 5161 78 9 [10[ 111213 14]15]16] 17 ] 18] 19 ] 20 [ 21 | 22 ] 23 F 3000
A | P | PH | BA[PBA|PFH | BHISE[(ZZ(ZT|Z5|Z= (2| | BH | BB [ [ | B |22 [(Z5| B | B

1
ByWoFy 10D55 01:54: ET=1232 Fg=1500.0 Ro=288.0 | 5000

300

200 -

100 - - 1000

ET (ml/hr/plant)

1.0

0.8

0.6

0.4+

0.2~

0.0
2000 4

—t 4
[ ] | _obs

1500 —@— PPFD obs

1000

500 -

RH
o RH_obs
RHo_obs

80 -

60

40 -

SIS "

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



36.

36.

36.

35.

35.

35.

37.

37.

36.

36.

36.

36.

T T
600 800

m=595,m FV0=0

T T
600 605

m=815,n FV0=0
8&0 Bé5
m

600 800

34.

33.

33.

32.

36.

36.

36.

36.

35.

35.

35.

37.

37.

36.

36.

36.

36.

35.

m=450, FV0=0

0_

450 455 4é0
m=655,n FV0=0

1T —e— MmE

i

655 GéO 6é5
m=875,n FV0=0

25 A

00 -

75 1

50

25 H

00 A

75 A

8%5 8é0 8é5
m=450,n FV0=0

51

50 -

49 ~

48 4

47 -

-o— MW

i

450 455 460

m=485, FV0=0

35.75

35. 50 A

35. 25

35. 00 A

34.75 A

34.50

34. 25 A

T T
490 495

m=710,m FV0=0

36. 75

36. 50

36. 25

36. 00

35. 75

35. 50 A

T T
715 720

m=930,m FV0=0

37. 25 A

37.00 A

36. 75 A

36. 50

36. 25

36. 00

930.0

932.5 935.0 937.5

m=485,m FV0=0

52.5

52.0 -

51.5 A

51.0 -

50. 5 -

50.0

49.5 -

490 495

m=545, FV0=0
—— M_E
36. 25 A
36. 00 -
35. 75 A
35. 50 A
35. 25 A
T T T
545 550 555
m=770,m FV0=0
—&— M_E
36.5 -
36. 0
35.5 A
T T T
770 775 780
m=990,m FV0=0
37. 50 A - M_E
37. 25 4
37. 00
36. 75 A
36. 50 -
36. 25
990 995 1000
m=545,m FV0=0
52.5 - MW
52.0 A
51.5 -
51.0 A
50.5 -

545 550 555



52.

52.

51.

51.

50.

50.

53.

52.

52.

51.

51.

50.

m=595, FV0=0

—o—

M_W

T
595

660
m=815,n FV0=0

T
605

——

M_W

T
815

T
820

825

53.

52.

52.

51.

51.

50.

52.

52.

51.

51.

50.

m=635, FV0=0

—O—

M_w

655

6é0
m=875,n FV0=0

T
665

——

M_W

875

880

885

52.

52.

51.

51.

50.

50.

53.

52.

52.

51.

51.

50.

m=710, FV0=0

—O—

M_W

T
710

ﬁ5
m=930,n FV0=0

T
720

54

1T —e— mw

T
930.0

T
932.5

T
935.0
m

T
937.

T
5 940.0

m=770, FV0=0

52.5 4

52.0 A

51.5 -

51.0 A

50. 5 -

50. 0 -

49.5 A

—— MW

770

7%5
m=990,n FV0=0

T
780

53.0 -

52.5 4

52.0 A

51.0 A

—— MW

990

T
995

T
1000
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P3-13

Bfig) | JEBIATIC (FD) | EBRE (BFH/HR) | XS EFE

06:40 294 150.0 |Z=| 1Ri&006:40 Bzl (REB{EEEE)
07:25 294 150.0 (Z=| 1Ri%@07:25 Bz (KREAEESE)
09:15 294 150.0 FE| {Ri%@09:15 Bz (RAEBRSE)
11:15 294 150.0 FA| {Rige11:15 Bz (RAERSE)
12:55 294 150.0 FA| {Ri&e@12:55 Bzl (GkAEEE)
=it 1470.0 (5%) 750.0 3E S KEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRERLE138.0 ml.

138.0), FAlEEHT—@ L XA S

[E&EC 5405.0 K5, #iYF{KECAE&HikER

HEEIHECE (2040. 0 vs 5405.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=52 (2025-05-22)

L R e T e T T e T T L
VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 41700
279 1146
50 860 28,
00
20 Warning: lcol [FVI',| "FVO’'] missing
0_
¢ o v — ME

300 -

200 -

100 A

100 A

200 -

100 A

1.

TargetEC=2600. 0,  TargetSetEC=2080. 0 t
Warning: lcol ['ECB’,| 'ECC’'] missing
TargetPH=6. 5, TargetSetPH=5.6 N
Warning: lcol ['PHB’,| 'PHC’'] missing
[
Bylnit!@D55 01:54: ET=1118 Fg=1500.0 Ro=342.0 2000
1
: : : - 1500
i
: - 1000
1
: - 500
p———& ®
PN PN ———————— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
3012 2| 5 | BB | B5 | B | A5 | A FH BH | FH A FH BH | FH A FH BH | FH A FH BH | FH A
1
ByEt @D52 17:24: ET=888 Fg=828.0 Ro=nan : - 1500
200 - 1
| o - 1000
. ————8—9
® 1
: - 500
o -0—o0—0—o I e
S - H. - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
30185 |2 |55 |25 |55 B (2R |ZE (%= H [ B A FH BH | FH A FH BH | FH A FH BH | FH A
1
ByWon:@D55 01:54: ET=663 Fg=750.0 Ro=155.0 - 1500
i
1 - 1000
l  ———
: - 500
p——o—H 00— \l/ T S
P N - BB 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
25|26 |25|25 25| B |[Z5|2=|2=] BB | M A FH BH | FH A FH BH | FH A FH BH | FH A

0.8
0.6
0.4+

0.2~

806 3

0

=

Warning: lcol ["WC1',  "WC2'] missing

[ ] | _obs

400 —8— PPFD_obs

200 ~

RH
o RH_obs
RHo_obs

/ M‘"’%\‘S o w

T
N
o
o
o

- 1000

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=460, FV0=0 m=530, FV0=0

37 A

3.0 o wE o— MmE | 366 — N
36. 25 -
36 1 34.5 - 36. 00 - 36. 4
35. 75 -
35 34,0 36. 2
35. 50
34 1 33 5 4 35. 25 - 36.0 7
—— ME 35. 00 A
33 B T T T T T T T T T T 35 8 L T T T
500 600 700 800 435 440 445 460 465 470 530 535 540
m=605,m FV0=0 m=655,m FV0=0 m=785,m FV0=0 m
36. 8 o— ne | 3697 — NE — N 53 |
36. 75
36.8 -
36. 6 6. 50 52
36.7 ' 1
5 -
36. 4 - _
26.6 - 36. 25
50 -
36. 2 36. 5 36.00 ~
49
36. 4 35. 75 -
36. 0 48 4
36. 3 35. 50 -
T T T T T T T T T T T T T
605 610 615 655 660 665 785 790 795 500 600 700 800
m=435,m FV0=0 m=460,m FV0=0 m=530,m FV0=0 m=605,m FV0=0
50.0 1 —@— M_W —o— MW —o— | 9307 —— MW
52.0
49.5 59 0 A
51.5 1 52.5 -
49.0 -
51.0 -
51.5 ]
48,5 52.0
50. 5 1
48.0 -
50 0 4 51.0 - 51.5
47.5
435 440 445 460 465 470 530 535 540 605 610 615
m:655,m FV0=0 m:785,m FV0=0 m m
53. 25 - MW —— MW
52.5 -
53. 00 -
52.0 -
52.75
51.5 1
52. 50
52. 25 - 91.0 1
52.00 1 50.5
655 660 665 785 790 795
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

07:25 294 150.0 | =| 1Ri&e07:25 Bz (KRPBEEE)
07:50 294 150.0 (2 =| 1Ri%e07:50 Bz (kHBERSE)
09:30 294 150.0 (& =| 1Ri%e09:30 Bz (kBERESE)
10:15 294 150.0 | =| 1Ri&e10:15 Bz (KRBEEE)
11:00 294 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
11:55 294 150.0 (& =| 1BRige11:55 Bz (GkBFERSE)
12:55 294 150.0 |Z=| 1Ri&e12:55 Bzl (GRPB{EEE)
13:45 294 150.0 RS {Rike13:45 Bz (REERS)
14:50 294 150.0 BS| 1Ri%e14:50 Bz (GGREMEESE)
16:00 294 150.0 S| Ri%e16:00 Bz (REERESR)
21t 2940.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

FERRNEREEFEBAT (191.0 : 138.0), AgEHF—@E XAHH5
ZRIALBRERLE138.0 ml.

RER I Bl RECEIB SRk,

[E];%EC 5685.0 K5, EiLFAIKECAE & hEER

HEHECE (2163.0 vs 5685. 0) 15

REXRFEBL I HEREC/PHERR K, FIREIERNRR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=51 (2025-05-21)

R S et et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

1700 656

N
o
o
o

FRV (ml d-1)

100 A 1528

1100 1168 210

50 - - 1000

Warning: lcol ['FVI',| "FVO'] missing 20

( o )

200 + FRV
T e e ey

100 A

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit:@D55 01:54: ET=1468 Fg=1950. 0 Ro=526.0
- 2000

0

- 1000

+
sz {10 e —

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

| % | % | % | | | | | % | [ % | @ | m | | w || w | m @ m]m]®

Fo———""—""""-

il

R

3001%= j
ByEt @D51 18:37: ET=1438 Fg=1656. 0 Ro=nan : - 2000
I

y - 1000
100 A 1

L b 0

1 3 4 5 6 7 8 9 10 11 1
300d%=| M lH | BB | BB | BB [Z2R[ZE|2E|25|2E5]%

1
ByWoFy 1@D55 01:54: ET=1210 Fg=1500.0 Ro=313.0 - 2000

e | - 1000

o0

L 4
PN

bo

TQ
=S

M~

5] B B B 5]

200 -

100 -

EN
o
r

p——&
1.0 P
0
%=

A1 B [H | BB |25 (25|27 |25(2 |5 | B [ BB |5 | B [ BF |5 [ [ BE | R [ BF | S

0.8

0.6

0.4+

0.2~

0.0

—_— 4
o | _obs

—@— PPFD obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



36.

36.

35.

35.

37.

36.

36.

38.

37.

37.

37.

37.

37.

38 A

37 A

36

35 -

34 -

33 A

32 -

T
400

660 860
m=605,n FV0=0

T
1000

—&— M_E

GiO 6%5
m=805,n FV0=0

8%0 8%5
m=975,n FV0=0

—O—

o

T

M_E

i
i
i

980 985

34.0 -

33.5 A

33.0 A

32.5 A

32.0 A

36.

36.

36.

36.

35.

35.

37.

37.

37.

37.

36.

36.

m=435, FV0=0

M_E

440 445
m=655,m FV0=0

T
435

75 A

50

25

00 -

75 A

50

—o— M_E

T T
655 660 665

m=845,m FV0=0

75 A

50

25

00 -

75 A

50 -

—&— M_E

845 850 855

52 -

50 A

48 -

46

44 -

-o— MW

400

600 800

m=460, FV0=0

35.75

35. 50 A
35. 25
35. 00 A
34. 75 A
34. 50

34. 25 A

M_E

T T
460 465 470

m=710,m FV0=0

37.0 A

36. 5

36. 0

35.5 -

—o— M_E

i
=

7%5 7&0
m=890,n FV0=0

37.

37.

37.

37.

36.

36.

855 960
m=435,n FV0=0

890

48

47 -

46

45 -

—— MW

440 445

36

36

36

35

35

35

37.

37.

36.

36.

36.

36.

35.

38

37.

37.

37.

37.

37.

36.

50.

50.

49.

49.

48.

48.

m=530, FV0=0

4

.21

.01

.84

.6

.4 A

—o— M_E

T T
530 535 540

m=755,m FV0=0

25 4

00 -

75 -

50

25 -

00 -

75 -

—o— ME

7é0 7é5
m=930,n FV0=0

.04

9é5 9&0
m=460,n FV0=0

930

5 4

0_

-—o— MW

460 465 470




51.

50.

50.

49,

50.

50.

49.

49.

48.

48.

52.

51.

51.

50.

50.

m=530, FV0=0

—— MW

530

T T
535 540

m=755,m FV0=0

—— MW

755

T T
760 765

m=930,m FV0=0

—— MW

930

935 940

50.

50.

49.

49.

48.

48.

50.

50.

49.

49.

48.

48.

52.

51.

51.

50.

50.

m=605, FV0=0

—0—

M_w

605

6%0 6i5
m=805,n FV0=0

——

MW

805

8%0 8%5
m=975,n FV0=0

——

e

M_W

975

980 985

50.

50.

49.

49.

48.

48.

51.

50.

50.

49.

49.

m=695, FV0=0

—0—

M_W

655

T T
660 665

m=845,m FV0=0

——

M_W

845

850 855

m=710, FV0=0

50. 5 -

50. 0 A

49.5 A

49. 0 -

48.5 A

48.0 A

—0—

M_W

710

T T
715 720

m=890,m FV0=0

51.5 4

51.0 -

50. 5 A

50. 0 -

49.5 A

——

M_W

890

895 900




